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UGC NET PAPER 2 NOVEMBER 20, 2021 - SHIFT 1 DOGRI QUESTION PAPER

Topic:- 33DOGRI_A
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[Question ID = 301][Question Description = Q01_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202)
3. 3 [Option ID = 1203]
4. 4 [Opticn ID = 1204]
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[Question ID = 302][Question Description = Q02_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]
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[Question ID = 303][Question Description = Q03_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4 [Option ID = 1212]
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[Question ID = 304][Question Description = Q04_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4, 4 [Option ID = 1216]
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[Question ID = 305][Question Description = Q05_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
| 4. 4 [Option ID = 1220]
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[Question ID = 306][Question Description = Q06_33_Dogri_SHAAN_20NOV_Shift1_51]

1, 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3, 3 [Option ID = 1223]
4. 4 [Option ID = 1224]
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[Question ID = 307][Question Description = Q07_33_Dogri_SHAAN_20NOV_Shift1_51]

1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]
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[Question ID = 308][Question Description = Q08_33_Doegri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4, 4 [Option ID = 1232]
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[Question ID = 309][Question Description = Q09_33_Dogri_SHAAN_20NQOV_Shift1_51]

1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]
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[Question ID = 310][Question Description = Q10_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1237]

2. 2 [Option ID = 1238]
3, 3 [Option ID = 1239]
4, 4 [Option ID = 1240]
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[Question ID = 311][Question Description = Q11_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1241]
2 [Option ID = 1242]
3 [Option ID = 1243]
4 [Option ID = 1244]
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[Question ID = 312][Question Description = Q12_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Optien ID = 1247]
4. 4 [Option ID = 1248]
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[Question ID = 313][Question Description = Q13_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]
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[Question ID = 314][Question Description = Q14_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1253]
2. 2 [Optien ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]
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[Question ID = 315][Question Description = Q15_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1257]
2. 2 [Optien ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

16) oo Oa i Fgiiaar o

(1) TEmdaHIqeE (2) U e d e
(3) wFHATST (4) feX 2w A e facR

[Question ID = 316][Question Description = Q16_33_Dogri_ SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]

| 3, 3 [Option ID = 1263]
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[Question ID = 317][Question Description = Q17_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1265]
. 2 [Option ID = 12686]
. 3 [Option ID = 1267]
4 [Option 1D = 1268]
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[Question ID = 318][Question Description = Q18_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]
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[Question ID = 319][Question Description = Q19_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1273]
2 [Option ID = 1274]
. 3 [Option ID = 1275]
4 [Option ID = 1276]
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[Question ID = 320][Question Description = §20_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1277]
2 [Option ID = 1278]
3 [Option ID = 1279]
. 4 [Optien ID = 1280]
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[Question ID = 321][Question Description = §21_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Optien ID = 1283]
4. 4 [Option ID = 1284]
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[Question ID = 322][Question Description = Q22_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4, 4 [Option ID = 1288]
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[Question ID = 323][Question Description = Q23_33_Doegri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4, 4 [Option ID = 1292]
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[Question ID = 324][Question Description = Q24_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]
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[Question ID = 325][Question Description = §25_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1297]
2. 2 [Optien ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]
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(1)  aread (2) arar forcar
(3) A=A (4) T3¢ TR

[Question ID = 326][Question Description = Q26_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4, 4 [Option ID = 1304]
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[Question ID = 327][Question Description = Q27_33_Dogri_SHAAN_20NOV_Shift1_51]
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. 1 [Option ID = 1305] Your Personal Exams Guide
2 [Option ID = 1306]

3 [Option ID = 1307]
. 4 [Option ID = 1308]
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[Question ID = 328][Question Description = Q28_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]
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[Question ID = 329][Question Description = §29_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1313]
2 [Option ID = 1314]
3 [Option ID = 1315]
. 4 [Optien ID = 1316]
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[Question ID = 330][Question Description = Q30_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1317]
2 [Option ID = 1318]
. 3 [Option ID = 1319]
. 4 [Option ID = 1320]
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[Question ID = 331][Question Description = Q31_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1321]
2 [Option ID = 1322]
3 [Option ID = 1323]
. 4 [Option ID = 1324]
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[Question ID = 332][Question Description = §32_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1325]
2. 2 [Optien ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]
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[Question ID = 333][Question Description = Q33_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1329]
2. 2 [Optien ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

34)  Srord Sie-aeu, T 3 27 o

1) &wR ) Reth o 3w
@  afaderaes (4 g aTHSBI

[Question ID = 334][Question Description = Q34_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1333]
. 2 [Option ID = 1334]
. 3 [Option ID = 1335]
4 [Option ID = 1336]
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[Question ID = 335][Question Description = §35_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1337]
2. 2 [Optien ID = 1338]
3. 3 [Optien ID = 1339]
4. 4 [Option ID = 1340]

36) "SSIRd I WET- Tofed 991 el & sTaear gl ¥ Irene gr ¥
(1) ST Achclem aHTa | (2) SLEdEA |
(8) s ReRarvEiEH | 4) s eduA AT

[Question ID = 336][Question Description = Q36_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]
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[Question ID = 337][Question Description = Q37_33_Dogri_SHAAN_20NQOV_Shift1_51]
. 1 [Opticn 1D = 1345]
2 [Option ID = 1346]
. 3 [Option ID = 1347]
. 4 [Option ID = 1348]
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[Question ID = 338][Question Description = Q38_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]
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[Question ID = 339][Question Description = Q39_33_Dogri_SHAAN_20NQV_Shift1_51]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Optien ID = 1355]
4. 4 [Opticn ID = 1356]
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[Question ID = 340][Question Description = Q40_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]
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[Question ID = 341][Question Description = Q41_33_Doegri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]
3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]
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[Question ID = 342][Question Description = Q42_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1365]
2. 2 [Optien ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]
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[Question ID = 343][Question Description = Q43_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1369]
2. 2 [Optien ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]
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[Question ID = 344][Question Description = Q44_33_Dogri_SHAAN_20NOV_Shift1_51]

1. 1 [Option ID = 1373]
| 2. 2 [Option ID = 1374]
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4. 4 [Option ID = 1376]
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[Question ID = 345][Question Description = Q45_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]

3. 3 [Option ID = 1379]
4. 4 [Option ID = 1380]
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[Question ID = 346][Question Description = Q46_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4, 4 [Option ID = 1384]
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3) BAaDAFHI

4y BdCdFAI
[Question ID = 347][Question Description = Q47_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]

3. 3 [Option ID = 1387]
4, 4 [Option ID = 1388]
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[Question ID = 348][Question Description = Q48_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1389]
2. 2 [Optien ID = 1390]
3. 3 [Optien ID = 1391]
4. 4 [Option ID = 1392]
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[Question ID = 349][Question Description = Q49_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4, 4 [Option ID = 1396]
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[Question ID = 350][Question Description = Q50_33_Dogri_SHAAN_20NOV_Shift1_51]
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1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]
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[Question ID = 351][Question Description = §51_33_Dogri_SHAAN_20NOV_Shift1_51]
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4) B acC A HFEA

1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]
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2) CaD3FA
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[Question ID = 352][Question Description = Q52_33_Doegri_SHAAN_20NOV_Shift1_S1]
. 1 [Option ID = 1405]
. 2 [DOption ID = 1406]
. 3 [Option ID = 1407]
4 [Option 1D = 1408]
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B.  #epadr Rec Asme diet 3l &5 300 3rRa ¥
C.  rerdicich S-5AITSHl G S el st GIEI U]
D. o HFd fad A o 3iadag N

AT WS Aa Iree fadbew 3 e

(1) B.CAD &I
(2) A BJID A&
3y A CAD &F
4 A BJdcC Sl

[Question ID = 353][Question Description = Q53_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

P4 qarEfeAt s & e o
A QOGS faaary oA ||
B. O AGF TGl AT o1
C.  TolEd o 3=l FHAYO! SfiaeT &Y e Hrch &1 U
D. &3d IRME TISSEr U

&AM B A e [aFHed A I= i

{1) B.C aDd&& I

2) A CaD&= |

(3) A BaDdmral

4 A BdCcd=HAl
[Question ID = 354][Question Description = Q54_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1413]
2 [Option ID = 1414

]
3 [Option ID = 1415]
. 4 [Option ID = 1416]
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1.8'd D 3ld I
2. Ad D BIb Al
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4. A BACEIDHI

[Question ID = 355][Question Description = Q55_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56)
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A TR QoG IR ¥
B. sl & sfiaa ot sma v
C. ARSI
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$E I TS STa e fasmed o e

(1) A.Bacéxdl
(2) B.CAD&FHI
3y A CdDdF
4y Bacé&wdl

[Question ID = 356][Question Description = Q56_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

) T emdtd gy Uy D :

A. I A= HETHRA W 3YRd U
B. ¢ &Y 3id o a2 9%y T
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D. & <Rad 3{1H TMarHi ||

S ol o5 oldi 3igd fddbed 1 Ak

1.A,B d C3lH I
2.B,C d D3I I
3.A.C d DEIFHI
4 A,BdDIHAI

[Question ID = 357][Question Description = Q57_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]
4. 4 [Option ID = 1428]
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A. <1 T3 w2, Fifg e d Wl U
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3% dl s oldid 3Migel f[ddhed I

1.A,Bd CAIPHHI
2.B,Cd D3ld ]
3.A,C d D3Ib I
4.Ad D3lBAI

[Question ID = 358][Question Description = Q58_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1429%]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

) sImEEaEET
A stAlRd @ M ATV
B. oafoa fed aRkfeufast ot vermerar oo Sidy ¢
C. O I FI5 WATA A i Sy |
D.  eifiis v o e A wensar eedy Sidr v

S WS AN 3ieel [ddhed At o

(1) A BICHH
2) B.CADAFH
3 AJBd=HHI
4 Bacdwd)

[Question ID = 359][Question Description = Q59_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

0 amifar
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1.A Bd C3I& Al
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[Question ID = 360][Question Description = Q60_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]

61) 20l ‘TRE

g, & 3cufcd UEhd ¢ IR e, AHT THA U
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(1) A Bacdsal
2) A CaDd&dI
(3) AJBIwHA
4y AQDdwHI

[Question ID = 361][Question Description = Q61_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4, 4 [Option ID = 1444]

62)  ardr wires 9fra sITeT — 4

A gdagt S ol A o Heheret U

B.  Sgrsd aifsd gere Jie & Tevolel V|

C. IR AWITeIF Hidh 9T INT ST et M & Hehole T
D. s Q A4 i &1 Hehelet V1

$E A WS S ey ey o e

(1) Aqdcdwd

2) BaDdwdI

3) AJD3IFAI

4 Bacdwdl
[Question ID = 362][Question Description = Q62_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]

3. 3 [Option ID = 1447
4. 4 [Option ID = 1448]
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D. ST dheiH] ¢ feras H=01 gHTad |
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1.Bd C Al I
2 AdC3lFH Al
3.Bd D 3IP Al
4 AdDBIHAI

[Question ID = 363][Question Description = Q63_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]

o4 FIeAIae, I THET AT
A SgaRadadn
B.  uddh & s aRada &
C.  screlsiidll
D. sfFcafra

§& W TS ST 3nEe faded ol e

(1) A BICEHFA
2y B CIDEwAI
(3 A BJID S&dAl

4 A CADdEHA

[Question ID = 364][Question Description = Q64_33_Dogri_SHAAN_20NQV_Shift1_51]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65) o otrs A T -

A 5 FgREIT I

B. & owd A Aigel o)

C.  Tour sisfaree el He |

D. &I Wiged AFEHT
T T TS Sa 3w faheq oy =
(1) A BdCE&®A|

2 A BdD8&H

3 AC3ADE&FH

4 B .CAD&FI

[Question ID = 365][Question Description = Q65_33_Dogri_ SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
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| 3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]

66)

[Question ID = 366][Question Description = Q66_33_Dogri_SHAAN_20NOV_Shift1_51]
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=ar 1 =g 11
A ANAR I 9T S
B. eriTr I 98- §IaA
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D. s V. framis 99-cad 991
& T WS S 3ge fased ot =

(1) A-NLB-I,C-II,D-1V
@ A-NLB-I,C-IV, D-I
3 A-IV.B-1.C-TI, D-II
4 A-T B-TLC-TIV, D-I

1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

67)

[Question ID = 367][Question Description = Q67_33_Dogri_SHAAN_20NOV_Shift1_51]

et a8 7 R Rl Wil a1 g6 9 7 Rich R wiaRed ot 7S firemey 3
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ar 11

A ToEersr (I AEGH U Shads

B. fer@era

MEHTW

D. felEaca
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IV.  H QUr Shasst

F& AT TS A 3T f[aehed T a:

(1) A.-IV.B-TIT.C-I, D-II
(2) A-IV.B-1LC-III. D-II
(3) A-IVB-II.C-I, D-III
(4) A-LB-II.C-IIT, -1V

1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]

68)
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(1) A-IV B-IILC-1II,. D-1

(2) A-IILB-I1.C-1IV. D-III

(3) A-II.B-IV_ C-IIl. D-I

(4) A-III.B-1.C-IV. D-1I
[Question ID = 368][Question Description = Q68_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1469]
2. 2 [Optien ID = 1470]

3, 3 [Option ID = 1471]
4, 4 [Option ID = 1472]

69)
el 98 7 R 2 wfafRed o gd 9 7 R Rl wiafRed oot &8 et -

=ér I =iar 11
A PRAS I dgade
B. iwared Al I e dar
C. ForqRer o Frefiet 0L oot &y sy
D. 379TT-31961 AT IV. gifeeaes

$& A TS STa 3Tl fasheq i e

1) A-II.B-IV,C-1.D-I1I
2 A-IILB-IV.C-II. D-I
3) A-ILLB-ILC-IV, D-1I

4 A-IV.B-1.C-II, D-1II

[Question ID = 369][Question Description = Q69_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4, 4 [Option ID = 1476]

70 N g feed ot AR T g <id) < el o iR et w0 e o
g 1 S
A URaERY L &
B. sy 0. SREHAIE
C. 3Ty M. &g
D. GATSANE- Fureiarer IV. ool foell STelt

$¢ AT s S 37Tee! Taded Il Iar:

(1) A.IV B-I1.C-1I, D-TII
(2) AI B-III,C-IV_D-II
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(4) A-II.B-IV.C-1I, D-III
[Question ID = 370][Question Description = Q70_33_Dogri_SHAAN_20NOV_Shift1_51]

1. 1 [Option ID = 1477]
| 2. 2 [Option ID = 1478]
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TV deereicr o e Rl wRaf¥ed a1 g widy 7 Raceh R wifafReat et € et v
=ey 1 =4 11
A IS 1 e dd oAT
B. dewer Foo II. s AT
C. I fgom-am €H III.  Segdoiid
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S =1 TS SAard el [ashed o =T

(1) A-ILB-IIC-IV.D-1
2 A-LB-UII.C-II. D-IV
3) A-II,B-IV.C-II. D-1I
4 A-IV.B-I,C-TII, D-1I

[Question ID = 371][Question Description = Q71_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

72 il R R TR 1 g < o Rl R R et w8 v -
dar 1 =ar 11
A e delr I @@
B. @& ACH 1L ersey
C. a3 ARH 1. JIreifEdex
D. Hisiremer el IV. 3ccl Mool aR TIEr

8 AT WS Star 3Meel fahed 3 T>al:

I A-ILB-IV.C-I. D-1IO
2 A-IIILB-II.C-IV.D-I
3 A-ILB-II.C-IV, D-III
@ A-IIIB-IV.C-II. D-1I

[Question ID = 372][Question Description = Q72_33_Dogri_SHAAN_20NOV_Shift1_51]

1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]
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(1) A-LB-III,C-1I D-IV

(2) A-ILLB-IV,C-1I D-1III

(3) A-ILB-II,C-III, D-1V

(4) A-IVB-IIILC-1I. D-1
[Question ID = 373][Question Description = Q73_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]

3. 3 [Option ID = 1491]
4, 4 [Option ID = 1492]
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a1 =iey 11
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D. 3FE a5 oolfeir V. ool Waal
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4 A-ILB-IV.C-II. D-II

[Question ID = 374][Question Description = Q74_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1493]
2. 2 [Optien ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

75) e e T Rl R SRR 2T €S 9 7 Rl e Wi st T v A

war I gar 11
A VeIt AT 73 I. =7 9T
B. el Tg Fgl II. 391 carT

C. 33 v &y ITL. oes e
D. 9gsAs &1 Hars IV. fra gaferar

e T @S Sdid 3eel [asheq o <ail:

1y A-MM.B-IV.C-I D-II
2y A-IILB-IILC-IV. D-1
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[Question ID = 375][Question Description = Q75_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
| 4. 4 [Option ID = 1500]
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{3) CADBEB 4 C. D, B A

[Question ID = 376][Question Description = Q76_33_Dogri_SHAAN_20NOV_Shift1_51]
. 1 [Option ID = 1501]
2 [Option ID = 1502]
3 [Option ID = 1503]
4 [Option ID = 1504]
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4) C.ADB

[Question ID = 377][Question Description = Q77_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Opticn ID = 1508]
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(1) B.ACD
(2) ACBEBD
(3) D.C.B. A
(4) B.DAC

[Question ID = 378][Question Description = Q78_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]
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[Question ID = 379][Question Description = Q79_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1513)
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Opticn ID = 1516]
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[Question ID = 380][Question Description = Q80_33_Doegri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4, 4 [Option ID = 1520]
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(1) ABD.C
2) DABC
(3) B.CAD
4) C.A DB

[Question ID = 381][Question Description = Q81_33_Dogri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]
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[Question ID = 382][Question Description = Q82_33_Dogri_SHAAN_20NQV_Shift1_51]

1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527
4. 4 [Option ID = 1528]
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[Question ID = 383][Question Description = Q83_33_Dogri_SHAAN_20NOV_Shift1_51]

-
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. 1 [Optien ID = 1529]
2 [Option ID = 1530]
3 [Option ID = 1531]
. 4 [Option ID = 1532]
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[Question ID = 384][Question Description = Q84_33_Dogri_SHAAN_20NOV_Shift1_51]

o 2
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. 1 [Optien ID = 1533]
2 [Option ID = 1534]
3 [Option ID = 1535]
. 4 [Option ID = 1536]
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[Question ID = 385][Question Description = Q85_33_Dogri_SHAAN_20NOV_Shift1_51]
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. 1 [Optien ID = 1537]
2 [Option ID = 1538]
3 [Option ID = 1539]
. 4 [Option ID = 1540]
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[Question ID = 386][Question Description = Q86_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Optien ID = 1541]
2. 2 [Optien ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]
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SEATA - G THATT ATEAT &Y AT T TR TRINT &1 sRAR 81 815 & 3¢ st o e Wrrehr

A5

AR I, FIET, AR, Feoll Shotg, ASG GF HAIT AT HGT ¥ ST UF ATall el & aroet
A ¢ e I AT ¢ ol

S WS STard e faeeq o e

1) AJRNNIAFATA, R aT®RIHRUTY
2) AT R QVEFATA, R gTRSHF0TAS VY
(3) AdHTG Raean)

4) ATdTARIFY

[Question ID = 387][Question Description = Q87_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

%) AT RN |15F (A) I AR reeRIeHE T & G (R) et ey T
HRAA : ‘AFGF  FgeN-Uals (6T e aglfaal FelidaTeie a-ider figar |

f9aR  : AEe FgE-adE A agfer SR G smgAe o doa auriady | agifad &y Aol
1 3itfear =)

& TS AT 3ee faeded 3 A
(1) AQRNEFATA, R T s HROTY
2) AT R NIFTTA, R TRSHFRUTAS TV

3 A&+ Raean)

4 AIFaTAREF
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[Question ID = 388][Question Description = Q88_33_Dogri_SHAAN_20NOY_Shift1_51] Your Personal Exams Guide
1. 1 [Option ID = 154%]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

89)
o HUT Red A A | 5 (A) 3rda aifel Foleerarcaeh st o 31T (R) Ostot Arfed shRoT X

FEATA - 3ol IR arars) s 3G & Je 4d - fads | o SR o 3 Aot W
Foo] 3 3 T HAUST Y o5 HIwTI

OFTR 1 3ol Affaehdrdic ¢ Ad R fdares amgi g

$¢ T TS oIaIe HIgel [dded I =t

(1) AT RIEFATA, R &SR0TV
2) AQJRATESFTTA, R TS FOAS VY
3) AdFHTI RImav]

4) AT TAR AR
[Question ID = 389][Question Description = Q89_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]

3, 3 [Option ID = 1555]
4, 4 [Option ID = 1556]

90)
§0 &Y it oo A8 & | 5o (A) e ATl fore=rarcaes el o g3 R) Isfet arfed SRoT -

IAITA - ORI STeIar &F AT gl ¥ Ty 3t SToTar a9R Uil fSra=Tr SEE T Bt v,
Seoll 3 Fefdieen o TH 1 Y

VTR ¢ 3Tfea Wiac Sest Stetal oT SHfer, Aafie, TREide 9 gau-399 TR W
T hrar s Werar U

S8 T 5 oA 3TRel [Adhed 2 Jair:

(1) AJR IFAIA, R TS FROTY
2) AQJRNEFATA, R GTREFROTAS VY
3) AdIFTA RIcat

4) Avca¥dR &SV

[Question ID = 390][Question Description = Q90_33_Dogri_SHAAN_20NOV_Shift1_51]
1, 1 [Option ID = 1557]
2. 2 [Optien ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

Topic:- 33DOGRI_C

D aow R ey o o 3 o R & et & i e et Raae ot

S & T, I ST TGS & R o TS Hebal 3Teel 1 ST WS Sile 37Tgel dA1ed 9l s -dAleeh
HRIT ST Tl ¥ FFRSACH o He Vet I el S gestaare a1 Adhien ag ¥ vr 5%
SHEGT W-TAST & W F AR o7 Adon ) IR 1917 i w1 wifed &1 Yol Raeie
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Heltol &7 At 3117 ar TR SR #7s &7 e Qea &f thaen ofdr 33|

ReaRdleT T aadg-allcd 4 AT GU faeads & Hid e & (N & R §15) Ty &I 5T
o I

SIIR ¥ sjahs sl &) YEIHIT Tel 1979 ¥ faed 9flg gl & X & Bodsd §1S. SIgs) Hoigedl o
el UF oTerhs-aTea HElQY-STHU Aol o, NI el Arhe & Uleh = WEHT A3

ST JFRS-AAIEH g TR 7 391 1986 3l gI3m SI9R-A o 1S Qferar als & a7 7 163 &Y S{Fhs-
AR W) Higa Rig §& semar df v aegan O WA gaws.ars g @ a2 Bier #a

TN o T 3 el

oJahs- oliceh TU=s e g:

1)
@)

TCHTGT &1 TSIt (2) TATSdIG ol T
"IEIAIE, o THrr (4) TSTAdIT 1 THET

[Question ID = 402][Question Description = Q96_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1605]
2. 2 [Option ID = 1606]
3. 3 [Option ID = 1607]
4. 4 [Option ID = 1608]

2)

wrd foed & 4 ol ofed 39 ¥e Red & g & | Srare g e ot 9

F& & TN, T S RS &) TR T WA TR IR I ST G Y I A M FFFS-ACE
AT SATS Gehal U ﬁmmaﬂaﬂ%ﬁﬂwmgﬁamﬁﬁa AN A5 V| T 5
ST HrE-awsh & W & e o aden ¥ seEr 1917 o w1 wfea & deeh awwei
Hellet & AT 3T ar BT S 317s &7 sTieeh Wee o ol o 31311

R edier = ferps-aliceh &) QeaTTal gv favage & #idh warmer & (3nael & SR g1 T et $=T
o It

S9N T SJFhS-AICH GF YA Tel 1979 71 v WRIG el & SY & Horasd g1, ATST Il of

Prcir| Tg, FFHs-5ATCH FGRI-STHA ol 7, AMeTIR AN Fidhe & Ik = W3 A3

SR YFhg-aliees &l W 7 3R 1986 3 g13m Seer-aer of i Hferar aiis & o1 =1 163 &Y fierehs-
dAiedh W gl [p §& gomar &t fver seddr & WIS fads-Ales fod & @ ey #ga

LT o T o1 Hicl|

AT A% JaFS-ICH ¢ ATF &

1)
(3)

3T ATTATA 2) ¥ews
AT TehT 4 SfferareT gI3w

[Question ID = 403][Question Description = Q97_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1609]
2. 2 [Option ID = 1610]
3. 3 [Option ID = 1611]
4. 4 [Option ID = 1612]
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Your Personal Exams Guide




WWW.prepp.in

3)

wee e & dgy o oY 39 ¥e Red & s & /S srara gt fawse oft g

F& e, gemet i RS & Ry T WA Wehal 3RS A1 51 WS ST IR e A fahs-Aed
ITE3T A5 Tahal O ﬁmmaﬂaﬁﬁﬁﬁmmgﬁamsﬁa AN A5 V| UF 5%
SEET Ardr-aHAe & W O TErar o adon ¥ sEgae 1917 o w1 Ffed & el sRweie
Heltay g7 Hlant 3mmam ar B ¥ Ajs g ACF Qea o hgen ofar A3m

ReaRdleT T afadg-allcd & AT GU faeads & Hid e & (NaFre & 3R §15) Ty A& 5T
o ehicit|

SIIR ¥ ofaehs-Hlceh &1 YEIHIT Tel 1979 9 faed 9flg gl & X & Horasd §1S. SIgs) Hoigedl o
el UE oTerhs e HETQ-STHU Aol o, NI el Arhe & Uldh o WEHT A3

ST FFRS-aAIEh gl T 7 3916 1986 3l g13m ST & 1S Jferar ais & a7 7 @63 &Y S{Fhs-
e W) Aigal Rig §& senmar df faver aega O Wi gaws.ars g & a2 Bier #aa

TN o T 3 el

fava wilie aeal & 5T 2 woreT TEie JReT S9N aT Ueel JJawhs aIe ol

1)
(3)

STt GUHEA (2) TS

Heheq (4 FHoTSTH TR

[Question ID = 404][Question Description = Q98_33_Dogri_SHAAN_20NOV_Shift1_51]
1. 1 [Option ID = 1613]
2. 2 [Option ID = 1614]
3. 3 [Option ID = 1615]
4, 4 [Option ID = 1616]

4)

wre foed & 4 ol ot 39 ¥e Red & g & 1 rare g e ot g9

Tt IS, T ST RS &Y TR I Wels ehel 3Tt 1 ST W Silel 37Tgel A1Ca I FJahs-aicd
HREIT A5 Hahal V| gmmaﬂaﬂ%ﬁﬂa@lﬁmgﬁamsﬁa AT o5 V| Ug S
SEFrIET drE-awsh & W & e o aden ¥ seEr 1017 o w1 wifea & deel awwei
HeATet & AT 3T ar AT S 717s &7 sTieeh W o ol o 31311

RrgRedlel o Jabs-aliceh &1 ALIATA gV Taeads & Hld el & (3naTel & SRIeT 811 U AT ST
o I |

S9N T JahS-AICH G YEIA el 1979 71 R TRIG el & SY & Hordsd g1, JATsY Il of

Prcir| Tg TFHs-5ATCEH AGRI-STHA ol 9, MeTIRaNe Al & I 7 WE3M A3

SR SYehg-allees gl W 7 3R 1986 9 g13m oo of s Hferar «is & o1 =1 163 &Y fiehs-
diedh W gl [E §a gomar &t el seddr & WIS gads-Ales fod o @e ey #ae

AL o TIIT o1 Hic |

S ¢ Yol ' s slleh & dls §:

(1)

'FHell AR O "HIAT 1T GBI’ (2) 'HRAREr J A8 AR
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3)

TG o g T 9y (4 TGS Boor  ARTddr

[Question ID = 405][Question Description = Q99_33_Dogri_SHAAN_20NOV_Shift1_51]
1, 1 [Option ID = 1617]
2. 2 [Option ID = 1618]
3. 3 [Option ID = 1619]
4. 4 [Option ID = 1620]

3)

wee e & dgy o oY 39 ¥e Red & s & /S srara gt fawse oft g

F& e, gemet i RS & Ry T WA Wehal 3RS A1 51 WS ST IR e A fahs-Aed
ITE3T A5 Tahal O ﬁmmaﬂaﬁﬁﬁﬁmmgﬁamsﬁa AN A5 V| UF 5%
SEET Ardr-aHAe & W O TErar o adon ¥ sEgae 1917 o w1 Ffed & el sRweie
Heltay g7 Hlant 3mmam ar B ¥ Ajs g ACF Qea o hgen ofar A3m

ReaRdleT T afadg-allcd & AT GU faeads & Hid e & (NaFre & 3R §15) Ty A& 5T
o ehicit|

SIIR ¥ sjaehs-Hlceh &1 YEIHIT Tel 1979 ¥ faed 9flg geaT & X & Borded §1S. SIgs) HAgedl o

el UE oTerhs T HETQ-STHU Aol o, NI el Arhe & Uleh = WEHI A3

ST FFRS-AAIEh gl T 7 3916 1986 3l g13m ST o 1S Qferar ais & a7 7 163 &Y S{Fhs-

e W) Higa Rig g senmar df fver aedan O WA gaes.ars g @ a2 Bier #aa

TN o T 3 el

AT o T3 IR HIA dhs-aICed & olls o:

(1)
(3)

'Feloid T A 3T (2) '@'&-@ﬂ'ﬂ'?{’ﬂ?m
TMed A € (@ %7 grS A3 gferam A O IR

[Question ID = 406][Question Description = Q100_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Optien ID = 1621]
2. 2 [Optien ID = 1622]
3. 3 [Optien ID = 1623]
4. 4 [Option ID = 1624]
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Topic:- 33DOGRI_B

1)

wed Rea & et oft R 39 &0 Rea & Qandt & wd e st e ot Ak

girem = Taever 3re & arfdicafard 3R 21es, ST 9E dhowt T 3 SAisal & WURT 9 9Uedl TeeT 3T
T VN ST IS e g Foeda (o1 $HhE g o TG Qgahar dheot g Y g el He 9 Fowd
Waud @ 31 A gere F TR FU Toher ¥ UG X Aol & gle | IUHAT, HeTH F IR |
TN e & YE A 56 A O U & A 3N Fool WU W 3T WIE &G 7 A YT,
TSTHT, ITEET SR A T ITTI AV & 77| FEIeT 3T ALV & 3G of o UG Ueg o 390G
Toiedrd 9 & Holic MMy 7{e st & 3reT ol Tl o seramenr st o1 forar waRm, faer-a-few
TR e = R A R o WS A & S AT WP Il oea S A & WRT = giar T wied,
Q1. QALY FIRT 2Aeg W & SEAHTH Thool 901 ¢ A UE AT T TR ool ¥ o T Uedd e,
ST UE el 3t SIS o1 ik diRT 9 ST =1 913 3|

'Belral’ 2Teg; &1 T8Il T wgerd ¥

(1)

"l STEIT (@) ‘& et
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(3

T 3T (4) '3Tar 9HET

[Question ID = 397][Question Description = Q92_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Optien ID = 1585]
2. 2 [Optien ID = 1586]
3. 3 [Optien ID = 1587]
4. 4 [Option ID = 1588]

2)

wed e & et ot R 39 &0 e & Yandt & wd w1amw st e ot Ak

girer = Taever 3re & arfdieafard 3R e, ST & dhowt T 9 Sisal & Wy Y 9WEdl ST 31T
T V) ST I T g Feedaqor SIS gl o TS Hgaar dheot g Y 9 el He 9 Fowd
TeEad @ 39 M gere 3 €9 FO Toher ¥ UG ¥ Oredt & gl o) 39T, Hemdd F aRy|
3T A & YT T 56 7 I UG & Hel 7Y Tl WO WY I W G F A T
ASTHHL, ITTEET SIRT e T I AV & oT| HEHIT 3T AT &F 3TAG of o UG Usq o 390G
Toiedrd 9 ¢ Fofic My 7{e st & 37T ol Jhiehy o seremedr st o1 forar waRm. faer-a-few
TR e = R N R o W A & S A WP Rl oea S A & Wy giar v Wi,
@1, HIOAL FIRT Aeg W ¢ SEAHTH Thool 901 ¢ A VE Al WEEe) TR ool ¥ o T Uedd et
ST UE el 3t SIS o1 | Heiak diT 9 w2 =1 13 31

=2 T - Uedd & N7 ool el 2T 2T O

(1)
3)

T (2) VIR
fss (4) YSCRY

[Question ID = 398][Question Description = Q93_33_Dogri_ SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1589]
2. 2 [Option ID = 1590]
3. 3 [Option ID = 1591]
4. 4 [Option ID = 1592]

3)

wed Rea & Ya¥ ot R 39 80 Rea & Yan & s St s ey ot Ak

garenr o faerer 319 & arffieafad 3med e, 3T 9 hevt U A SIS & 9O 98T Qe ISy 3Mar
T V1 X I e 3 Fpeadyul SIS g o TS Qg dhest g ff UG 3T Hel U Fowt
Taad @ a9t 9 gt 3 U O Ther ¥ 9T X Tieelt & gl | 3UHIT, HeIHaT O WA
3G A & YT T 56 A o WG & Hel F Feel WO WY I W A F A TYea.
TSTHHL, ITTEET SIRT A T I AV & 7| HEasT 3T ALV &F GG of o UG Ueg o 3¢
oiedrd 9 ¢ Folic MMl 7{e st & 37T ol Jhiehy o seramedr senie o1 forar waRm. fEer-a-few
IR el =] R N R o W A & S A WP FpAT oeq S A & Wy = giar v Wi,
1, IO FIRT 2Aeg W & SEAHTH Thool 901 ¢ AR AT T R ool ¥ o T Ucdd e,
ST UE el 3t SIS o1 1 Heiak diRT 9 w2 =1 613 3

TG-S 916G &Y T9eT o VI g el ¥

(1)

(3)

'THE WA (2) '@TE ITEIT
T IR (4) R 9T

[Question ID = 399][Question Description = Q94_33_Dogri_SHAAN_2O0NOV_Shift1_S1_N]
1. 1 [Optien ID = 1593]
2. 2 [Optien ID = 1594]
3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

4)

wed Rea & et ot R 39 ¥ Rea & Qo & ws e st e ot Ak
arer < Taerer 31eF & AfFcaiard 3ed e ST U8 dheod A 3N SiSer &Y WURT 93 U olc 31ar
8] V| g A YT HE FEodduol S8 g o e Agaer Foof RIS A U IR HT US Foeed
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mmmmmﬁmaﬁrﬁ*m V| UGF A Tieel & gie o) ST, mﬁml
U e & YT 56 A O Usq & A 3N Fool WU T I WIE &G 7 A YT,
STSTHL, ITTEET SIRT A T I AV & 77| HEIaT 3T ALV & 3G of o UG Ueg o 3¢
oiedrd 9 ¢ Folic My 7{e st & 37T ol Jhiehy o seremedr st o1 forar waRm. fEer-a-few
IR el | SR A R o e A & S AT WP FpAT e S A & WRy = giar v Wi,
1, SO FIRT 2Aeg W & SEAHT Thool 90 ¢ AUE AT T R el ¥ o T Uedd e,
ST UE el 3t SIS o11 Heiak dlRr 9 w2 =1 613 31|

"HAH eec &Y AT
(1) 96 ¢ WA Fead BIS ATV (2) FEIHI ¢ YT doed BIS T U
(3) g d IREH & A e RIS & T (4) AT RGN S AT e §S AT U

[Question ID = 400][Question Description = Q95_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1597]
2. 2 [Option ID = 1598]
3. 3 [Option ID = 1599]
4, 4 [Option ID = 1600]

3)

wed Rea & et ot R 39 ¥ Rea & Qo & Rs e s ey ot e

garenr o faerer 319 & arffieafaa 3med e, 3T 9 hevt U A Sisa &F O 95T Qe Sy 3Mar
T V1 ST IS e g Foeda (o1 $hS gl o TS Hgahar dheot g < g el He 9 Fowd
Taad @ 3t 9 gere 3 Tuee & Ther Q) YT X Tieelt & gl o 3UHIT. HeIHET O WA
T e & YT 56 A O Usq & A 3N Fool T T I WIE &G 7 A Yeal,
TSTHT, ITTEET SIRT A T I AV & 7| HEaeT 3T ALV &F 3G of o UE Ueg o 3¢
oiedrd 9 ¢ Folic Iy 7{e Usg & 37T ol Jhiehy o sreramenr st o1 forar waRm. fEer-a-few
IRT el = SR A R o 3WE A & S AT WP FpAT oea S A1 & WRT 7 giar v e,
1, IO FIRT 2Aeg W & SEAHT dhool 901 ¢ AR AT T TR el ¥ o T Ucdd e,
ST UE el 3t SIS o11 Helck alkr 9 w2 = 13 3|

S'2 T 3T & WA G e O

(1)
3

adad (2) TIFls
IEIERn 4 Seraser

[Question ID = 401][Question Description = Q91_33_Dogri_SHAAN_20NOV_Shift1_51_N]
1. 1 [Option ID = 1601]
2. 2 [Option ID = 1602]
3, 3 [Option ID = 1603]
4. 4 [Option ID = 1604)]
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Topic:- General Paper_Set1_A

1)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

. - + e e

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
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IFTOICS510TI1AaE (L) LT7o 5 B
Management (MA) 21% 3:4
Production and Transport (PT) 19% B3
Others (OT) 6% 3:68

freforfiaa arferm w e Hifte fem o 3 gz o9 9 SR =+ foafhw o 9 wwa & Fesw #=@ sfaea
(%) o qon ye9-ufEen FEEe W qmE T 2wl @l % P FEed i G 80 9| 2|

aifer § f3U 70 STST & SR W YT % SaX Sier)

R % RS = &R T
TR 57 & I < Frdere
stca (%) T | gev-Afeen sguw@ (3 A )
T (TH §) 15% 3:2
d (TE T) 12% 5:3
ot 3R oreanr (i ) 9% 5:4
e (i 2TR) 18% 5:7
WeuA (T U) 21% 3:4
IeureR IR ufiae (4 ) 19% G 3
319 (a1 &) 6% 3%5
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What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4,69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

weft &=t = et 769 SEEe 1 site wear 91 27 (S9med % 3 97 a%)

(1)
(3

6.39 @

5.96 @@

(Z2) 4.69 94

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20N0OV_S1_SHAAN]

bl B

2)

1 [Option ID = 8025]
2 [Option ID = 8026]

. 3 [Option ID = 8027]
. 4 [Dption ID = 8028]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ju
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafaa ofeem W e Hift fed o @ ge 990 3 o fafaw &m0 3 wma F wesa = wfea

(%) T o yEo-afEen $rme oua qmta T 2wt aEl % P FEww # e 80 9| 2

ATt ° 138 770 STS1 % STER W I¥T % I aier)
TR % s =l @er T
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TR 57 & I 1 Frder
stc (%) T | geu-Afeen sguw@ (30 A )
Ta1 (W 3) 15% 3:92
Hed (E T) 12% 5:3
Fmtor 337 orRar (i ) 9% 5:4
AT (W 2TR) 18% 5:7
weaA (T U) 21% 3:4
Ieures 3R ufias (4 2) 19% 5:3
31 (211 &) 6% 3:5

prepp
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%
(3) 320% (4) BO%

tg § 3 b o & # wrka afeen wRee B g gen @ w8y d weka w@ weea R g w5

foram oA 27

(1) 330%
(3) 320%

(2) 318%
4y 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]

oW

3)

1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]

]

. 4 [Option ID = 8032

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distibution of Workforce of India

Employment Sector

Workforce of India

Percentage (%)

Ratio of Male to Female

Distribution M : F)
Service (SE) 15% 3:2
Pales (SA) 12% 5:3
Construction and Maintenance (M) 9% B:d4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan oftem W fiem it few o @ ge 94 3 o % fafaw & 3 wwa F wesa = wfaea

(%) T @on yEo-afEen Frme oum qmt T 2| wft aEl % g FEww 6 T 80 9@ 2

aiferst ¥ 130 70 STST & STYW W YT % SaX S

A % SRS 1 SFa
TR =57 & YR 1 FrHaA
i (%) o | gea-afgen oo (g H )
a1 (TE §) 15% 3:2
Tew (@ T) 12% 5:3
Fmtor 3t e (di ) 9% 5:4
v ST B 11 R | | 1 000 = .
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ALTATRITIN ] 'Il."'ll V'll\! e Y S r

eIy (T T) 21% 3:4
Ieures IR ufias (4 2) 19% 6B
3177 (2 &) 6% 3:5
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH T 3R UH U & § HE I e I Fa we 9 & 47 § wEW seea 3o S e

fopam wima 27
(1) 82%
{(3) 29%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

oW R

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distibution of Workforce of India

Employment Sector

Workforce of India

Percentage (%)

Ratio of Male to Female

Distribution M : F)
Service (SE) 15% 3:2
Pales (SA) 12% 5:3
Construction and Maintenance (M) 9% B:d4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan oftem W fiem it few o @ ge 94 3 o % fafaw & 3 wwa F wesa = wfaea

(%) T @on yEo-afEen Frme oum qmt T 2| wft aEl % g FEww 6 T 80 9@ 2

aiferst ¥ 130 70 STST & STYW W YT % SaX S

A % S = &R T
TR 57 & I o Frder
stc (%) T | geu-afeen ogue (30 A )
a1 (TE §) 15% 3:2
oy (Tw ) 12% 5:3
Fmtor 3t e (di ) 9% 5:4
AT (d 2TR) 18% 5:7
&g (TH U) 21% 3:4
Ieures IR ufiaes (di ) 19% BER
317 (211 &) 6% 3:b

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
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in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH U 31 U U & H i Aiien e S Fo g o fi & &3 9 Fea aften srww f qem w

3TTR T 27
() s.i+@ (2) 7.5 <@
(3) 5.7 @g {4) 13.2 @G

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8037]
2. 2 [Optien ID = 8038]
3. 3 [Optien ID = 8039]
4. 4 [Option ID = 8040]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distibution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Bl 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others (OT) 6% 3:68

Frefafan oftem W e it few o 7@ ge 94 9 o % fafaw &m0 A wwa F wesa = e
(%) o a1 geu-afEen FREe ogum qm T 2| aHi @l % P FEed B G 80 9| 2|
Tt A 138 T8 STS1 % STER W I¥T o I aier)

Y & HrEISe 1 &Aer, o
TR H7 & R o1 Frer
stcd (%) T | geu-afeen sgu@ (3 A )
a1 (7@ 3) 15% $:2
eE (TE T) 12% 5:3
ot 23R orRar (i ) 9% 5:4
ArEeEe (F 2TR) 18% 57
weuA (T U) 21% 3:4
IeureR iR ufiag (di ) 19% 5:3
317 (21 &) 6% 345
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What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT

sectors put together?

(1) 17 : 39 (2) 16 : 37

(3) 16 : 35 (4) 16 : 39

ot w7 & # wrERa wiEen FEEd S FE SR 9 3R v o 2 &6l W PN 5 wEee i fHel Wedl 6

SIS o 27

(1) 17: 39 (2) 16:37
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(3) 16 : 35 (4) 16: 39 Your Personal Exams Guide

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041)
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1} Memory level (2) Understanding level
(3) Reflective level  (4) Autonomous development level

ALTE = fFm T 3 g AR fGER 3T geA 1 aed FE IR 36 SHaredd TGl W Bl 2 7

(1) R (2) TaEY TR
(3) HIWH WX (4) @ e '

[Question ID = 2012][Question Description = Q06_GP_20N0OV_51_SHAAN]
1.

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(€} Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(Z) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafaa 3= gfef s amaett 6t g2t & G srommm gedt fafim ol = meam @ faf=a e
T 2| 3% I S SeER 3EE B anad §) 39 A SN d Sudie SHeER ST % el 2T 3 7

(A)  FArcA-@aal (ame)

(B) e

(C) Ty F oty

(D)  wgo

(E)  F8AtEan

= feu o oot 4 ¥ @Er I w1 == il
1 @@

2) (BN
(3) (D) R E)
@ (B D)

[Question ID = 2013][Question Description = Q07_GP_20M0V_S51_SHAAN]
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[Option ID = 8049]
1)

[Option ID = 8050]
3,53

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List | Listl

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (1) Using Swayam and Moocs

(B) Open and distance learning method (ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(Il}, (C)-(1IN), (D)-(IV)

(2) (A)-(1IT}, (B)-(1¥), (C)-(1), (D}-(I)

(3) (A)-(IV), (B)-(1), (C)-(), (D)~(1)

(4) (A)y-(I), (B)-(D), (C)-(IV}, (D)-(II)

A1 % @ gf-11 =1 foem $ifs) g=hi-1 9 s siftrm wwnet © fham fi Bl & o€ €, o=k gt
I # sifermm faferl <R warerfiaa sem i goite € 8 )

-1 Tt I

Fregor <t fatern UTEEear A= Hi ahAlh
(A) FAHA-GEH s Fafhea H D) FaF9 AR gy 99
® I i g wftm R D) sfoia siemers T
(C) Toreror it Jafws fafa (I1I) WisTeR FTEAHF armft
(D) foaor 1 v fafy (IV) il & Y-y e o
9 fov 7o fawedt 9 © w8 ST W 99 i

@1 @)-M, (B)-AD), (C)-d1D), ()-IV)
2 (A)-dID, B)-AV), (C)-(), (D)-(ID)
(3 A-av), ®)-d1D), (€)-dn, (D)-D)
@ (@-AD. B)-D. (C)-AV), (D)-AID

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4, 4 [Option ID = 8056)

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (I} : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees,

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (Il) are correct

(2) Both Statement (1) and Statement (l1) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (11} is correct

F97 (D) : Iqeifes ofi wiftemrar ofgon = gdienfiin % 7w of 39 gaa i ol dimr =
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T e % ZeTd AR 3R S 2

w9 (I0) : Fegig =afema wlam i nadm =afrae alen whenfial & fafie =mer 3 o =
ur G % gEEE 8 da ey Wi #)

SUUH A F A 1, 4 fu o formed 4 @ w98 SUgw ST W =99 St

1) =W @) 3 A1) 31 =AY B
) =W @) 3R 1) 3 o |
(3) =y (D)= 2, SifE v (1D o R

@)  H (D) 7o 2, S F97 (00 w98t 2

[Question ID = 2015][Question Description = Q09_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4, 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both {A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Hi= @ o= g w ¥ : ©F wfuFYA (Assertion A) % 9 7 faflgd 2 @1 gm0 3w FW (Reason R)

ERUR-

AFFFHIT (A) : foreqor o sngfiep o7 o3 ®1 & et mEE wonett W i wEeE stitem wiwm
i TEAY ST 2

w1 (R) ; et e freror werar wonelt =i st afifEateat A guar ¥ @y g3 fea amn
ATy

3T HF * o7 8, T i o fweni € | w8 s 9 Al

(1) (&) SR (R) 3 T3 & R (R), (A) F w6 =e 2

@ (@ R ®) FE w , AR ®), Q) i wdt =men 71 21
@) (AT 2, A ®) e 2

@ () = 3, IFF R) 79 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora e % wiw § wfaarli-ulides <6 demtsa T S 27

1) I e ) et wy
(3) IR WY (4) TETIETE Y

[Question ID = 2017][Question Description = Q11_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8065]
| 2. 2 [Option ID = 8066]
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| 3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]
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7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B} Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uitsreun afem S afmf @ a1 afugf® o omfe % v 4 2t 2, o 6 F=fafea 9 @ f faften

] T GUHR &7

(A) Taaones &

(By  wHiTen=s fafy
(C) = fafy
D) sl @&

(E)  ==maEmesss oty

F=1 fou o fawedt B o OF W w1 9= i

1 (@B
@ (B IR(C)
3 (O FRD)
@ (D) (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]

-

1 [Option ID = 8069]
2 [Option ID = 8070]
3 [Option ID = 8071]
4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(l11}, (B)-(1¥), (C)-(I1), (D)-(I)

(2) (A)-(1), (B)-(Il}, (C)-(1IN), (D)-(1¥)

(3) (A)y-(I), (B)-(IN), (C)-(1), (D)-(IV)

(4) (A)-(I}, (B)-(1), (C)-(IN), (D}-(IV)

-1 % o G-I =1 faes ifse) g=it-1 8 iy % = 9ea 2, S0 gefi-I1§ 356 gR1 g a9

-1 11T

e % THIT U AT ST T
(&)  =wen g () STFS! %1 AROT 3 A6 T
(B) uftsmenT Fuio (IT) U FER B © THFH B
(C) wiidema ufiem %1 =94 (III) = % &% # goF I74 33

AT '\-.'l':—_l'-_lT ';I.'IH-‘I.H.'IHI' ATATh -rr:trﬂ-r ;_\l- En-g ;l— :ﬁ—_r 'I':E"P'! 'I'EH'I'R—I' —r——tT
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'\‘u‘; Vfl'l"\':ll [ It T ) B B | '\‘J.'I'; LR B | T i Bt ¥ TET O TELCML WM M T TELT CINE THEWORT

= fou o fameat € @ w1 wwa FHifsw

1) (A-dID. (B)-AV), (C)-aD), (M-
2 A)-O. B-AD. (O)-dID), (D)-AV)
(3)  (A-AD. B®-1I), (C)-D). (D)-AV)
(4  AQ-AID. B)-@). (O)-dD). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Optien ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement () : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement (1) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement () and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1} is false but Statement (ll} is true

=g wm g 3

w97 (D) : T TU-TEY SR WE-TT § wEd 31 deH % ey ofi Weht % sftw i st 7
B 2l

w97 (ID) : T wadt A ok s sgem wft mdl F o sthEm 21

ITUH HA H aTens 3, f= B el § 9 ot sa w9 i

(1) = (D) SR (1D g wea 3
2 =y (O 3R AD T A 2

3 =AD" 2, A wad (1D S9ed 2

@) = (D) 9 2, Wfes w0 (1D F9 2

[Question ID = 2020][Question Description = Q14_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4, 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hi= 2t w0 g o £ ; ©F sifiwuR (Assertion A) % ww # foiflaw @ @ 3T 39% TR (Reason R)
w0 W

wAfieE (A) et wiy afieuw (Hy) #1 Fusofa s (He) 6 s=oa 8 o frn s
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ey |

w01 (R) : i afmwerr (Hy) i asanta 7 sifugf @ig s & 78 F s g 2

SUIE HUA F I 4, T o T fmmedt 4 @ aen sugw < W 95 i

(1) (A) IR (R) IF T 2 R (R). (A) A 7 =7rem 2

() (A SR R) A @ 3, | (R), (A) B wd wmem = R
@ (A= 2, afF ®) T8 7@ R

@) (A)wE T 7, A (R) wEl 2

[Question ID = 2021][Question Description = Q15_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8081)
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

gLt W OiEe T 9 ugE UE feew fAtafaa 6 @ fa 6w e 20

(1) 30 sah (2) 309
(3) 15 3RS (4) 15 TR

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3, 3 [Option ID = 8087)
4. 4 [Option ID = 8088)

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THMERTR 1 Sd- T (@) "Let truth prevail” 87

Q)  fi e Q) TEW A 3
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]
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13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.
Reasons (R} : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= 3 F99 G T ¥ : o AR (Assertion A) % w9 # faflam 2 ot 3w 3W% FR (Reason R)

FBYH ;.

a1fieE (A) stftrs wan (Sigwre) sTarsa i gafweie S st g 2, weg A3 Higm

£ T97z T TAF TN °Z T 2|

w0 (R) FER TERY (Siswne) Hitea W asei 2F i $ TR W 2

S HYA F e °, T R T fwedt 0 9w St ST w9 il

(1)  (A) R @) 3 T8 B 3R R). Q) F w8 =men B
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2) (AR R)IA TG 3, AR R), (A) F wE e = 2
(3 (DT E, dAfe ®) g &
@) (A= TE R, A R) =1 2
[Question ID = 2024][Question Description = Q18_GP_20N0OV_51_SHAAN]

. 1 [Option ID = 8093]
. 2 [Option ID = 8094]

1
2
3. 3 [Option ID = 8095]
4

. 4 [Option ID = 8096]
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14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in

what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU ¥ £g MUFHA Wel Aauhies 78 TR ¥ TF TR (Gas o mesral aifea ge?

(A) wum fagm fafamt it s i @i w0 F )
(B) =1 Ta04 JaHa e % WY e 3 % o
(C)  smfR i fran aomelt =1 TR weE + o)

(D) =2 4R S9W % fore FF Hifem o weae T HiRE B

H for T forRedi A W W SUE 3TT 0 OE iR

(1) e (A) 3R (B)
2 e (B) S (O)
(3) % (C) 3R (D)
(@) w9 (A) JRD)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097)
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

13) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

F5 & e A T A wd el A R B
A e
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(D) &g

(E) &I = 9 gl

=1 fou o fBewl § @ @@ I w1 999 Fif

(1) == (A), (B) 2 (O)
2  FaA®). (C) (D)
3 =3 (C). (D) 3R ()
4  Fa(A), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8101]
2. 2 [Optien ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs, 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months

and Rs. 5,000/- for the last 5 months of a vear. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

U T4 % AR U THAR W S1Gd Wi 599 U9 3 WaAl § 4000 T, 3G I 4 "oHl § 4500 9
Wi stfam s @At 4 5000 ¥ a7} =fe sw = & U B w=@ 5000 T At 9t 3@ gfEw Hi siEa

i 1 et At ?
(1)  3000/- T (2) 4000/- T
(3)  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8105]
. 2 [Option ID = 8106]
3 [Option ID = 8107]
. 4 [Opticn ID = 8108]

oo

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg =it g} arrew weEey W Siud waq -

(1) 76.5 (2) 98.25
(3) 55.75 (4) HB.75

[Question ID = 2028][Question Description = Q22_GP_20N0OV_S1_SHAAN]
. 1 [Option ID = 8109]
2 [Option ID = 8110]
3 [Option ID = 8111]
4 [Option ID = 8112]

P bl D —

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T NG 33 TeX 39 994 W 11 ofieX 3 % Foeea gem % s W aifSia w21 ufoma § @
=AY

1 25% 2 50%
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(3) U7 (4) BU%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  (2) 5.26%
(3)5% (4)7.2%

o7 foref) =g 1 wTa g ek fosha e A 95% 2 A e =R ufeeraan w27

(1) 4.26% 2 5.26%
3 5% @) 7.2%

[Question ID = 2030][Question Description = Q24_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4)Rs. 1,560/-

72 ig =afs et g =+t 25% ufewm F a1 @ 38 1200/~ o d dwar & @1 30% =1 @19 HAH K
fore =@ =w =g = e Fiwa | s= =i o e

(1)  1600/- ¥/ (2) 2000/- T
(3)  2080/- ¥ (4) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Opticn ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1)} Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

TS MR quAard |y = frefafaa § 9@ Fia-m g o 9% SRRl 3 aeg % |y meEa )

ST 27
(1) oy (@) IFEA
I (4) ufsy

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126)
3. 3 [Option ID = 8127]
4. 4 [Opticn ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration {(upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

AT AR9TR o A0 ATAUTE & TI0A O =0T =F1 O27 &0 o T 2 7
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e ot

()  Tormmst foma o saeor S w1/ TSl 0 FYE (3T4)
(B) RO B HH (27)

(©)  siftemon % g ¥ =0 F gy (Free)

(Dy  @fiemon =1 %a= (ufm)

(E) Tiféa frm = serewn § (et

= fow mu forreat 4 9 gdt 3w w1 = Hifdw

1) (D), (E). (A, (C). (B)

2 (D). (). B). A E

(3 (D), (B). (E). (A). (O)

@D (D), (E). (A). (B). (O)

[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

T YRAHE e -9 LIS Te3 YA Sl ST % A0 T A 7

(ve

(A)

(B)

©
D)

(E)

Choose the correct answer from the options given below :

(1)
(2
(3)
4

rbal authority) to inference?
Nayaya
Vaisesikas
Buddhists
Mimamsa

Carvaka/Lokayata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(A). (D) and (E) only

(A =™

(B) duifis

€ dig

(D)

(E) ilﬁi?ﬁ/?ﬁ%l'ﬂﬁ

Hi=t fau 1w fopeal § 9 9El 3o w1 =Ea Fifye
(1) e (B) 3R (C)
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(2) %I« (B). (C) 3 (E)
(3) #FF9 (B) I (E)
@) I (A), (D) 3R (E)

[Question ID = 2034][Question Description = Q28_GP_20N0OV_51_SHAAN]

1. 1 [Option ID = 8133]

2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4, 4 [Option ID = 8136]

24) Given below are two statements

prepp
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Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement () and Statement (ll) are false
(3) Statement (I} is true but Statement (ll} is false
(4) Statement (1} is false but Statement (ll} is true

= a1 =y fog e 3 -

a4 (1) e MR T % ATER Ak % e 9 % oa o B 2l

=9 (ID) s Gt 9% A Sardl & 7 =6 R TR ® SHE e wiiEe Sfeh aega: T8
Tl 3 73 29 $0 orgm @ 3

I A  aTels |, 9 Ry mu et & @ wd sow w = Sifte

(1) % @) SR ID) & A B
) = @) 0 AD T o E
(3) =y (I) 9cA 2, Afee =y (D) #1592

(4)  =wuT (D) 34 2, ©EE weE (1) 9T 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
11

[Option ID = 8137]
2.2

[Option ID = 8138]
3 3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List [l

List | List i

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reasen (lI) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

-1 & @ gel-11 = e Sifsm)
-1 - 11
T % T GEzice)

(A)  stfireron Y g % w0 F gfy @ e gl g 2w S gidl @ A9 Wi
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I

(B) =R F H dD) UwETE W T 2
() Ffza fram = g & A1) zEfT RIg W o 2
(D) wfud =) SHerel STy A e @AV) il Tt g3 2

= fou e fedt # @ @ s % T R

1) A)-O, (B)-0ID), (C)-AV). (D)-(1I)
2 @-AV). (B)-AID), (CO)-(1). (D)-dI)
3  @-dID, B)-AV). (C)-(1). (D)-AD)
@)  A-dDh), B)-O, (O)-dIL). M)-1V)

[Question 1D = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8141]
2 [Option ID = 8142]
3 [Option ID = 8143]
]

oW =

4 [Option ID = 8144

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

Tk 1S < A 7 A A uh W Hise b vzl @ i e @ e e g 6 gue el R an
w1 fiet el Aisal i 3795 AR 1§ BRI I a9 | = 2|

T 9 % T g gl = uae e e 2

(L e (dE) = 2 w=-igE
(3) wite =7 T 3Ed (4) TS g D IFE

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8145]
2 [Option ID = 8146]
3 [Option ID = 8147]
4 [Option ID = 8148]

oW =

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.
Reasons (R) : Man and Computer cannot communicate directly,

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= a1 == fiw e B v b {Assertion A) F w9 © faftag %T—ﬁmﬁ‘wﬁ? %O (Reason R)
F ETH ;

SRUEH (A) : % AW TS e H O AATRfEn famn snay=s =9 ° weuifia 5 wiEm)
BT (R) : Te 3 Rt w9 W A ¥ wEE T8 o g |

ITUTH U ok A o, A U U et § O 9 3w =99 ifaw

1) (A) FR(R) I Tea £ 3 (R), (A) A e =men )

@) (A) IR R)TAT T 7, AFF (R). (A) Fi T8 =men 718 2

(3) (A =S 2, &9 (R) 318 B

4)  (A) 95 2, A (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20N0V_S1_SHAAN]

1. 1 [Option ID = 8149]
| 2. 2 [Option ID = 8150]
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| 3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D}, (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

a4 99 § 99U B aud % w0 § Motatiad RS Guaietl % Ual 59 i qear i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fo o ferreat 4 9w s = w=q S

1 (D) A)C). (B)
2 @) {D. ). B
3@ @, 6.0.0
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8153]
2 [Option ID = 8154]
3 [Option ID = 8155]
. 4 [Option ID = 8156]

P

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement () are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement (1} is false but Statement (ll} is true

e % T § o s i ard-d Swieine A 2, A9 @ o g §

= (D) : TE-F1E H I sy © A B B
(1) ; ATE-hTS % HISHS W Sep hl e #El sifeen dier U8 Ser S 91 wehar B

ITUTH FHYT * oTw H, 19 B v Hwedr § € udl s w999 Hifg

(1) =y (0) & 3D 4 T £

(2) e (1) S (D) 297 oTEed B

(3 Fu= (D T3 2. = w597 (1D 3w 2|
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(4)

FuT (1) 378 2, S w9[ (D) T3 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Optien ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l ;

g=it-1 = =g gfl-11 = faee hifsm)

()

(B)

(©)
(D)

f9 fau mu forredt 3 @ 9t =9 w1 =1 Fifw

(L)
(2)
(3)
(4)

T=ht-1
(FFroge grieniyer Ireg)
OCR

OMR

Email

Instant Messaging

(A)-AD. (B)-D), (C)-(IV), (D)-11I)
(A)-AD, (B)-D). (O)-(1D. (D)-(IV)
(A)-(D), (B)-AD. (C)-11). (D)-(IV)
(A)-(1), (B)-(IL), (C)-(IV), (D)-(III)

Match List I with List I1:

(&)
®)

(©)
D)

List I
(Computer Terms)

OCR
OMR

Email

Instant Messaging

ey

1)

11

(o)

Zfpa o exafafigs e 1 O w H
for v g ?)

aig - Tarpeda wienstl # o wom #@ & fo
TIH BT 2

A11) ST FegTHeH
(V) THAIfTF HEgAB

@

(II)

List IT
(Purpose)

Used to scan typed or handwritten
documents

Used to mark  multiple-choice
exalinations

(II) Asynchronous Communication

(IV) Synchronous Communication

Choose the correct answer from the option given below :

1)
(2
(3)
@

(A4)-aD), (B)-). (O)-IV). O)-1I)
(A)-aD, (B)-). (C)-d1L, (D)-(IV)
(A)-(I), (B)-(1), (C)-(IID), (D)-AV)
(A)-@), (B)-AD). (O)-IV). M)-1I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]

1.1

[Option ID = 8161]

2. 2

[Option ID = 8162)

£

[Option ID = 8163]

4. 4

[Option ID = 8164)

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2} Methyl| chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SiF-9r tH A = oFO FE G gmd 20

P,

ST P

S

I o PR |
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(3)  TEH SETTTEES @ e

[Question ID = 2042][Question Description = Q36_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =F-w =t gq 9 St w1 a0

(1)  warfm s (2) uad Bl
(3)  wiFer (4) Setterga

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Optien ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4} Storm

frafafga & @ Fia-t weke Uz ST agdt 3 ot 3w sifmiys dm 9@ e 82

(1) (9) SHEEt TR
(8 =Emd (4) TEH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG GURR =h! GHierulig i a1 % ded § NMSHE fmfafiga o o foruesr gemerw 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180

35) Which of the following pollutants have adverse implications for human health as well as climate change?
{A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B), (€) and (D) only

(2) (A), (B) and (C) only

(3) (B) and ([}) only
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fraferfas # o fF Tewe! o1 Tfisge W9 AT % TR ST ety WieRe W9 8 7

(A)  EEISA SRATFIES
(B) TRR Ty (PMas)
€y sEE

(D) HA

(E) FIT5H IT9ERS

F9 fau ™ T § O 98 s w1 == hiR

1) A (B). (C) 3R (D)
2  F @A), (B) R (C)
(3 %I« (B) 3 (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NM0V_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= T & @2 4, wrdE swaw e A gl fiar § v ggEsn dan 9 fuife s9 % o
Frtaiga © @ fra vo P/ wree =t e T m?

1 7 @ wHAS
(3 wHIImA 4) uwamEH A3

[Question ID = 2047][Question Description = Q41_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3, 3 [Option ID = 8187)
4, 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; : ;Listll

(A) NAAC ; ; (1) Delhi

(B} NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; (III) Lucknow

(D) CDRI ; ; {(IV) Karnal

A1 % = geft-11 =1 e o)

g1 a1
Q) weuH O e
B) WaEIHT ) e
(C) A3 m (III) wETs
D) = o g (IV) =
F= for T fowedi & @ o s W T Fifw

1)  (A-dD, (B)-IID), (C)-@), D)-V)
@)  (A-dD, B)-1). (C)-AV), (D)-(1I)
3  (@-AID, B)-AD. (O-D). O)-AV)
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4 (A-AV). (B)-AID, (C)-(D). (D)-d)

[Question ID = 2048][Question Description = Q42_GP_20NOV_51_SHAAN]
. 1 [Optien ID = 8189]
. 2 [Optien ID = 8190]

1
2
3. 3 [Option ID = 8191]
4

. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

prepp
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(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using

Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D}, (E) only

(4) (A}, {(C), (D) only

73 forem ity (w7 3 1)-2020 % w3 & v Fit w9 FE W Tw@E 2| 39 Freem % i a2
(A) TrENFER § oTEYE 3R TErER g e fEw dar =)

(B) =iy =il GAgH &g WEifER % W= % dey ¥ e < g9 seE-UgE 39 U A9 geA S|
(© @i wrdta St = sgET 31 | werEan vy agart fawiva b anfve

(D) wawem TR, F o Sea aRkad F &7 § Afves gk B oW R 3y ot
R F T A §U AT ITEAH TATH F

(E)  Toran ienfieh 4 siifgms o7t gexmra amaist =1 fmior s

@ 2w mu feredt § O O IR W 9u i

L *=A (A, D), (B)
2  *ad Q). ®). B
3 9« (B), (D), (B)
4 (), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20M0V_S51_SHAAN]
. 1 [Option ID = 8193]
. 2 [Option ID = 8194]

1
2
3. 3 [Option ID = 8195]
4

. 4 [Option ID = 8196

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D} DIKSHA

(E) MOOC

Choose the correct answer from the options given below :

(1) (A), (B), (E) only

(2) (A), (C), (D) only
(3) (B}, (C), (D) only
(4) (C), (D), (E) only

Frefafea § @ -9 $-2fam 5= 27

A)  wEEH

(B)y 4=
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D)  diam

E) 7=

#2 o o famedt € O = TR W = Filw

(1) == (A), B). (B)
(2) € (A). (©). (D)
(3) == (B), (C). (D)
@ = (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198)
3, 3 [Option ID = 8199]
4, 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation {4) Industry innovation and infrastructure

W UF % TaE 49 g ¥ 2015 § oa e @sE-4 @ weig fretifed 3 § $e-a 989 ST

RE IS
(1) U9 TaRed 3T ages] (2) T e
(3) TSl S (4) =M EER TS STEEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201)
2. 2 [Option ID = 8202)
3. 3 [Option ID = 8203]
4. 4 [Opticn ID = 8204]

Topic:- General Paper_Set1_C

R Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

mi1lliAarn naennla anill nat he ahla ta Mmoat thai» haoins naadeo
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e gm = mgm = e e mmm m e = me e = e = ———

T ] TEHEE T AT 5% 918 73U T 59 W IW 3

FIAT AP FAS- 19 TeMi §A1 W =1 1Ay 4Ras wee wwe 9iR T Rivaag = o f w3
w31 TRt 21 ot ad % sfom o ° R § 36k 3eWa % WY T AR SRR T SIS G
AEId ® ¥l I 3| o9 T @ BT W 10 TG @ A I el g § R gl weer # gl w6
LA WA Sy S TS @ 2| Weg qF TemH WREA G¥e 4 wEl ok 3, U5 O g
amsE-oiw w@%e ff 21 2@ W TOT =it W IWiRE 2 sue el e o iR
T T9E U5 9 3 T S e aF TR AEH W 99 3| 3% Ug i e i afeafa
(Rerardl) o 3 o1 S ot wr ot e WaF 9 @ 8, WY & 9% fava e wied % ueEm U we ©
@R wedl qEal B o 3@ W 2 aw w ANew omdm eben feem 5 owE oW f g @ g
A=A & Sgea § Frowm w1 21w oA s srot et ot s e @ 31 5 T8 v B wfifefa
w9 AP g T | R gie idiE ugl % gled 3R wg-9e @il 98 31 ofatdE 3w wned @
I9HE 2 5 400 fafomm (40 wUg) @ = Freien = vt 21 faza 9% 3 A o § R owm A
g-taur (ifm) # 110 fafemm smieh sen A wh snof) goem sthime 2 B s00 fafemm (80 #U)
AT AT eI sEal B g e J awd g g )

The major crisis faced by the world since World War 1l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

ffta frraag & w12 fava 1 we® 9=t awe fra &8 § s 27
(1) it ) b

(3) TER (4) WA

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]
1 [Option ID = 8205]

2)

1
2. 2
3.3
4. 4

[Option ID = 8206]
[Option ID = 8207]
[Option ID = 8208]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemie is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the techmical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication
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2 [Option ID = 8210]
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. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World Wayr Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soelal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet thewr basic needs.
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Which continent is least affected by COVID-197
(1) Asia (2) North America
(3) Australia (4) Antarctica

HHA-AT BTG HIaS— 19 T ToH F9 i gon 27

(1)

(3)

ofdrm (2) ot e
g fern 4) il

[Question ID = 2054][Question Description = Q48_GP_20N0V_S1_SHAAN]

bl D

4)
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. 2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
yvear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?

(1) UNDP  (2Z) UNICEF
(3} UN-GHRP  (4) UNSC
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(1) UNDP (2)y UNICEF

(3) UN-GHRP (4) UNSC
[Question ID = 2055][Question Description = Q49_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Optien ID = 8218]

3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

?) Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitaran Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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